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FS| 2 S HES BRKE R BXES
1 i 1 5skskskskskokskskokk 26 8000 B 2kkkkkkkkkk | 5
2 | EAW 1 Sekskskskskokokokokok 2 12000 6 2skkskskskskskokskk ()5
3 INAE 1 Bskskskeskskeskoksksksk 2.6 8000 6 2kskskskskskskokkk 4 3
4 | HER 1 Skstoskstosksdokdoksk 1 5 11600 6 2skdkdokskkokkok 5 3
5 | feedH 1 5kstsksdosksdeskskoksk 2 X 8000 6 2sksdskdokkkokkok S )
6 | &mbta 1 5skskstesksksksteskokk 2 1 300 62kskdsokskAkok 36
7 | URRATE 1 4sksksteskskoskoskskskok 1 2 12000 B 2kskskskskskkokkk 68
8 | HER 1 4sskskskstokskskokk 25 8000 6 2kskkkskkkkokk2 ()
9 | BIFZE 1 4ssksksksteokskkokk2 | 8000 6 2kskkkskskkkokk 7 ()
10 +— 1 4ssksksksiokokokskok ] 7 12000 6 2kkkkkokkkokkS |
11 | 2k 1 4skeskstesteskskoskoskosksk 2 X 12000 B 2kskskskskskskokoksk [ 4
12 | KuZF 1 4skeskstesteskskoskosksksk 1 X 12000 B 2kskskskskskskokoksk 75
13 | X1\ &y 14kskskskskskoskskskk 29 3800 6 2%k kst kg sk kK ()]
14 | e 63skksskkskokdkskok Q9 400 62 kskdskkkkkkK T ()
15 Lk, 6 3skskskskskskskokokok 37 8000 6 2skkkkskskskskokk 54
16 | M=% 63skkskskskskskokokk 29 8000 6 2ksksksksksksksksksk (04
17 | B/NHE R —— 600 62kt 05
18 | 548 63skkskskskskskokokk 39 8000 6 2kskskskskskskokoksk 4 3
19 | HyEE 6 3skskskokskskokskokok ] 2 8000 B 2kskskskskskkokkk 68
20 | 5k 6 3skskdskkokokdokok ] | 7400 62 skskstsksktokokkok 48
21 | Fakp: 4 6%kskskskskskokokkk 23 8000 6 2skskskskeske sk skt 7 9
22 | EAAS ABkkkkkskskokok k26 12000 62 kskskskskskskoksksk 39
23 | E %R ABkkkkskskkokokk Q8 8000 62 kskskskskskkokokk 62
24 | YFE1H AGkskdskdokkkkk 19 4000 6 2skstskdokkkakkok 6 )
25 | 441 AGkkkskskskskokokk ] ] 12000 6 2kskskskskskkokokk 88
26 | AN 46%kkkskkkkkkk 29 5000 6 2kttt stttk 50
27 | & Han 4Bkskskskskskskokokok 29 12000 62 skkskskskskskokokk 2 3
28 | MREA ABkkkkskskskokokk 32 8000 6 2kskskskskkokokkk 26
29 | #H/NgE 46%kkskskskokokokkk8X 12000 6 2kttt stttk k8 )
30 | R 62skksskakskokdkskok 3 () 600 62 skskdkskdk kR4 T
31 | VLT 2 Tsksksksiskskskokoskok 2 X 4000 B Dskskskskskskskokokk 86
32 | BRF 21 skskskskoskskskokokk 29 8000 B 2kskskskskskkokokk 58
33 | il By 2 Lskskfookokdokok | 8 8000 6 2sksksskskskokekkok 35
34 7K bh 2 Tskskskskskskskskokok 2 7 8000 B Dskskskskskskskskskok 1 8
35 | “EikE 21 skskskskoskskskskokok 24 5000 B 2kskskskskskskokoksk ] 3
36 | FAE 21 skskskokskskskokokok 7 7600 6 2kskskskskskkokokk 65
37 X TH 21 skskskskoskskskokokk 29 10000 6 2kskskskskskskoksksk 54
38 | =& 21 skskskskskskskokokk4 5 4000 6 2kskskskskskkokokk 88
39 | fERE 21 skskskoskskskskskokok 3 () 12000 6 2kskskskskskskoksksk 54
40 | KRk F 21 skskskoskskskskokokok 22 8000 B 2kskskskskskkokk k86
41 | &= FEA4E 21 skskskokskskskokokok 2 7 10000 6 2kskskskskskskokoksk 4 5




42 | BT 2 1 sksksksksokskoksk k49 8000 B 2skkskskskskskokokok | 7
43 [ FHRER | 21%ksekkekiorsx28 8000 e ——
44 | ZRE=E 2 sttotodototokokok 20 12000 Y
45 | Fi 2 ] skskskskskkkokokok 29 8000 B 2skskskskskskskskokok 66
46 | BRI | 2D kkkkkrrrkk29 200 e —
47 | Fob A —— 12000 ")
48 | TR 23k 2T 12000 B —T
49 | R 2 3skskskskskokskokoksk | 8 12000 B2 kskkskskokskokokk 42
50 | NV 23skkkkkkkdok k(4 12000 62kskksokokdkok 89
51 | & R ——) 12000 e ——r
52 | BB Alxsskklk] 5 12000 B ——)
53 | feffEdiL| 4 lskrrkirk26 12000 2Kk |
54 | #EREIA | Alekkilolk33 300 T
55 | BRIREL| 4 lsekkrksork 38 12000 G 2kksskokkokkk 5 4
56 | BRZRUE | A lskskkkkkkkkkl 300 e —T:
57 | B VEME|  4lskrsrk 0 12000 B 2kskskkokokeiok |
58 | XKk 4] sokskskkdotokokok 34 12000 i ——y)
59 | MR 4] kskkkdokkok k38 8000 e ——
60 | 2ok 4] skskskkdokokok k7 () 12000 i ———
61 + 41 skskskskskskskskoksk ()X 12000 62skskkskskokskskokk4 ()
62 | BkIAH | 41k 0 12000 B 2kkkkekskskokok 59
63 | Fik A —— 12000 e~
64 | BEBsR 4] kkskrskkokkokk 28 12000 6 2skskskskkokskokskk ] 9
65 | FBAT | 4Alkkkrerckk]8 10000 e —
66 | BXFHEH| 4 leeeecckkok3d 12000 6 2kkkkekskskokok 89
67 | A TFEE|  4lskkkssirirds 10000 6 2skkttokekokakokok T
68 | 2|  62kkkkkiiiir() 12000 Y
69 | BH i —" 950 623kt 3 5
70 | FEHTIG | 64kkkkkkkkrk06 8000 e —
71 | X E 3T skskskskokskokokoksk D3 10000 62 kkkskkkkkkk 59
72 VE 6 1 skskskskskekokokokok 8 3 8000 B 2skskskskskskskokokok 68
73 | X I 12000 R ——
74 | AHEERR 62kskskskokskskokokk 53 8000 6 2kskkkskskkokkk Q7
75 + i 6 2kskskskskokskokokk 28 8000 B 2sksksksksioksksiokk 7 ()
76 | HFfE 62 %kkskkAdokk 20) 4000 i ——r
77 BN 62 %dkkkkAdokk 28 12000 .
78 | EESUE B2kkkskkkkkk k26 4000 B 2skskkskkokskokok k28
79 | FE® 6 2kskkskskoskskokskk 4 8000 6 2skskkskskokskokokk 39
80 | XK R —— 12000 G 2kskskskokkkok 5
81 | hT% 3 Qkskskskkokdokdok | 8 8000 B 2sksksksdokokskokkk S 3
82 | JHALE R ——) 12000 e —
83 | Wk R —— 8000 e ——)s
84 | ZiEtE 3sksksiskokskokokoksk ) 12000 6 2kkskkkskkkkk94
85 | XI| Bt 3sksksiskokskokokoksk 1 6 12000 62kkkskkkkkkk 56
86 | XFER 3sksksiskokskokokoksk 39 12000 62 kkskskkskkkokkS |
87 | &g S4kdokkkkkdkbh 8000 R,
88 | ®ESHF 3 4skkskskkokdok ok () 8000 B Qsksksksdokskskokkk S |
89 | FRIAHE|  SdskkkkkkkkkS6 8000 R ——,




90 | FEE 53sksksiskskskokokokk 53 8000 B 2skskkskskokskokok k63
91 TEM 53skskskskskskokokoksk 39 12000 B 2kskkskskokkokk k08
92 | fifi REFY 5 3skskesesesesesskkok 2.3 800 e ——
93 | PREEER 5 3skskskskskskskokoksk 29 12000 B 2kskskskokskskokokok D7
94 | TR 5 3sskktskokakotok 19 300 62k kb k4]
95 | Ml 53skskkskokdoskokdkok 24 12000 B2 kskdokskdok kARG
96 | ARZEE Hskskskskskskskskskk 36 12000 B 2swkkskokskskskokek 3 |
97 | K FEE 5 Qsksksiskadoksdokskok | 2 700 B 2skksdskskskskokok k8 2
98 | EEMRER|  52skkkkkrkior] 8 12000 YY)
99 | EiETH 52skskskskskskokskoksk 26 12000 6 2skskkskskokskokokk 89
100 | #Hom 5 2ssksteskskokskokiok 3 | 12000 62kt ARk 26
101 | #ik 52sksksiskskskskskoksk4() 12000 B2 kskkskskokskokokk 77
102 | B3 | Akt %9 | 12000 R — T
103 | EHEGRE | 42+kktioioiootk22 12000 e ——
104 | SEZEVE | 21skklolkkiek X 2700 e —
105 | F¥¢ 2 3skskskskstokskokskk | | 10000 B 2skkskkskskokokokok ] 4
106 | EEFE | 23wkl 24 300 e —
107 | K% 2 3sksksksiokokskokskok ] X 12000 B 2kskkskkkkokskk T4
108 | B H#% 2 Jskskskeskekekekekekek 3 X 12000 B 2skkkskekskskokokekd |
109 | F#H 2 3skskoskskstokskskokok | X 8000 B 2skkskskskskkokokk 3 3
110 | EE8YS | 4lssktrsrkrsx25 12000 G 2kkskkkokkk G 4
111 | BEGE | 4lkkssskkirlk66 12000 i —
112 | F37] 4]kt k%98 7060 62k kb kAR k6 )
113 | E4T | Alsstottst6? 12000 R ——
114 | FEBRYE | 4ADsskbbbbbrss 12000 R ——)
115 | BX#RvE A skswskstoksdoksorsk | 1 12000 B 2skkskksdkskskkek ()
116 | {055 | 4Alsskbbbbbe] 6 12000 6 2skskskskskskskokokok 36
117 | EifEai | 4lskeekkirx0] 12000 62kskskoletetekiok | 3
118 | 3k 41 Hkskkkkokokok 22 12000 R —
119 | sk 4 kkkokkok k32 12000 FERE A BT
120 | B 55 4% 41 sksksksrokokskokk 3 () 12000 B2 kskkskskokskokokk | 3
121 | BEEAS | 4Alskbbbbbbbrdo 12000 6 2skskskskskskskskskok() 7
122 | F2F]|  4lskrrsrkrs67 12000 G 2kksskokkkokkk 9 4
123 | BB 4] stttk 39 12000 R ——
124 | PFEF | 62kkpkprrkx16 12000 FEBER GO
125 | 8k | 4lsekrrsrkrsk 88 12000 62 skskkkkskskskokok 47
126 | ¥4 2. 30k KK D () 12000 B 2skskskskskskskokokek 84
127 | 8| 21%ksssdorrk28 12000 e —
128 | SSEEN | 21wmkpkiopkik] | 12000 Tk

129 | &2 X% 2 1 stk kB X 12000 e ——y
130 | FEXL 2 1 ksokskokkdodokok 29 12000 Tk

131 | 2= H 2 skskskskstokokskoksk 29 12000 B2 kskkskskokskokokk T 3
132 | H#x 2 1 xkkkdokkkokk 24 12000 e~
133 | Joik = 2 1 sdokskokkdodokok 27 12000 R ——
134 | A= 2 L kskskkokkkkokk 27 12000 P ——
135 | JKBRIS | 2 Lwwkkokokkkk29 12000 £

136 | SE45 10t 2 1 skskoskskstokskokoksk 2 2 300 B2 kskkskskokskokokk | 2
137 | 1588 % 2 1 skskkskdokskoksk k28 12000 B 2skkkskkkkokkk 46




138 | &' & i 2 skskskstoskokokodokok 2 7 12000 TE

139 | BaEM| 21 %wmrmid 12000 B2k kK 76
140 | #&HT 2 1 skskskdoskskkdokk 2 X 12000 e ——
141 | FEEF | 21sktkrkoktk2] 12000 IE

142 | il I ——— 12000 e ——
143 | 5 ER 2 1 skskkdokskkdokk2() 12000 6 2kstskskskokokotokok 33
144 | BEM 2 ] stttk 28 12000 e
145 | B2 | 2Dkkkkkklllk23 12000 B 2sksksksksksksksksksk 4()
146 | AR | 21wkkkkklkrxd ] 12000 i ——)
147 | EEH 2 1skskskskskokskokoksk 2 7 4100 B2 kskkskskokskokokk 49
148 | EiHEEL | 2Dkskksiokkrx22 12000 IE
149 | J¥EH A — 12000 6 2kskskskskskokotoskok ] 1
150 | T & i I —— 12000 e ——
151 [ &ZE4 | 22%kkkpiokkn2T 12000 G 2kkskkkdokkk 39
152 | &% 223k Akokokok 24 12000 R ——
153 | THtEE | 22%kkkkokirx] ] 12000 R ——
154 | F ik 22%dkskskkAAokk 59 12000 e —
155 | fhER 22kxkkkkkk k%) 12000 62kttt 7 ()
156 | FJi 22%pkkkkdokkk 4 12000 TE

157 | iRk ABkkskskkokskkkk | 5 12000 B2 kskkskskokskokokk DT
158 | & ABHsskkkkokk 3 12000 R —
159 | itz AGksskstoksdokskokk D | 12000 B 2skkskoksdokskokkk T ]
160 | FEdnE: AGskskskekstotokokk 22 12000 T

161 | ik ABkskskskkokskkokk 29 12000 B2 kskkskskokskokokk 49
162 | &= % 50%skskskskokkokkx4 8 12000 B2tk kskkokkokskkd 7
163 | HH==H BOskskskskskksksk 4 X 12000 T

164 | Z=HE 50skskkskskkokkkk X 12000 B2 kkkskkkokkkk T 4
165 | fEHf 1 Askstskstokeokekok k89 0




